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Anti-Derivative Test - \
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1. Which of the following statements are true?
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3. For J‘csc?‘xcot5 x dx, the correct u-substitution is

P
@ U=CSCX

b) U=cotx
c) either u=cscx or u=cotx
d)  neither u=cscx nor u=cotx

e) to convert to sine and cosine

Lz e <z -\
4. f(x3)s/l+x2 dx ofo® Tl
) ; i ,/‘!’ -
) x4 (1+x2)%Jr 5 S o (1 ) 2 Wl
a 4
2 3 S( Yy |
= - \(w=-1) W du
b 21+t eiee e g
- /
i b L ),5 sl
C@) e R (AT E Y : | (k. |
{ f/& .V/y
g L \ L & B l AT
d) %(1+x2)%_%(1+x2)%+c Z L %A >/>
e.) l(1+x2)%+c

3




5. Which of the following equations might be the solution to the slope field
shown in the figure below?

o, T e o e it et
N ~~ T
NN N
RN N

; \\ VoA N A/ /' [
VAN S
- \-\\ ‘\\ L I // /’/ Vs
=

2)  y=dx-x Qy y=—cosx ¢)  y=secx




J X o= p;mzo
Which of the slope field shown below corresponds to @ yx?
dx \,3,_: iy 5 1A= &

£ ¥ F / ] i X R % \\\\ T T . - - ¢ /
7 g / i i \ SN “ N, N S mefime e - /
/ / f/ f! ‘ ‘\ X, \\ \\ R N \\ * < // /
] 3 A ~ = N 5 b - /
ol /] VOO N NN N S e e ;
s Sl LV NN VNN Y ol L ¢

N
N % § \\\ \'L / /, 4/ \ . e A
4 £ N T #
SNANNY LSS WO St o
., ~ N\ / /7
SNNN Y L FFa g, o, o S g
N k v ; L
™ k) / ’
8 \\\\ N / ///,f — S oo g ]
we o
e N e g e S N
0% G A3 § f %]




7. Identify is the first mistake (if any) in this process:

%-——xy+x

Step 1: —1-——d = Xdx

Pt y+1 I=
Step 2: ln|y-|—1|=%x2+c
Step 3 |y+1]@
Step 4: y= e +e
a)  Step 1 b)  Step2 @ Step 3

d) Step 4 e)  There is no mistake.
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11. The acceleration of a particle is described by a(¢)=36¢>—12¢+8. Find the
distance equation for x(z) if v(1) = 1 and x(1) = 3.
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12.  Given the differential equation, =X
a. On the axis system provided, sketch the slope field for the % at all points
plotted on the graph.
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b. If the solution curve passes through the point (0, 1), sketch the solution curve

on the same set of axes as your slope field.



13. Find the particular solution w= f (r) that passes through (0, —%J if
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